‘ECE 321: Quiz #2 Name 9:00 / 11:00

Op-Amp Filters - April 13, 2017

1) X and 'Y are related by the following low-pass filter with real poles:

_ 30 _ 30
Y= ((s+2)(s+5)) X= (s2+7s+10) X

What is the differential equation relating X and Y?

Differential Equation relating X and Y
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What is y(t) assuming x(¢) = 2 + 3 sin(4¢)

y(t) assuming x(t) = 2 + 3 sin(4t)
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2) Find R and C to implement the following transfer function

_ 30 _ 30
Y= ((s+2)(s+5)) X= (s2+7s+10) X
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3) X and Y are related by the following low-pass filter with complex poles:

_ 30 _ 30
Y= ((s+2+15)(s+2—j5)) X= (s2+4s+29)X

What is the differential equation relating X and Y?

Differential Equation relating X and Y
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What is y(t) assuming x(t) = 2 + 3 sin(4t)

y(t) assuming x(t) = 2 -+ 3 sin(4t)
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4) Find R and C to implement the following transfer function

(30 \yp_(_300
Y= ((s+2+j5)(s+2—j5)) X= (s2+4s+29) X

note; The filter below has the tran_sfer function of
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5) Find R and C so that the following band-pass filter has the transfer function of

Y= _(s2+4iiIOO)X o = 109
The transfer function for this filter is Ciabe o c
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